SUBJECT:

River Oaks Townhomes fka Winthrop Place Townhomes PI#6741 Development Review Division of Development Services Department

DEPARTMENT: SECTION:

Project Review & Processing

BOARD DATE: CONTACT:

December 9, 2025 Lee Ann Kennedy

RECOMMENDATION:

Authorize the Development Services Department, as the administrative authority designated by Resolution R25-042 to receive, review and process plat or replat submittals, to accept the dedications to Hillsborough County as reflected on the attached plat for the River Oaks Townhomes, located in Section 04, Township 30 and Range 20. Further authorize the Development Services Department to administratively accept the Subdivision's public improvement facilities (off-site roads, drainage, water and wastewater) for maintenance upon proper completion, submittal and approval of all required documentation. Also provide the administrative rights to release the performance securities for lot corners upon final acceptance by the Development Review Division of Development Services Department and also provide the administrative rights to release the warranty security upon expiration of the warranty period, warranty inspection and correction of any failure, deterioration or damage to the Improvement Facilities. Accept a Performance Bond in the amount of \$2,413,929.19, a Warranty Bond in the amount of \$139,026.70 and authorize the Chairman to execute both the Subdivider's Agreements for Construction and Warranty of Required Improvements. Also accept a Performance Bond for Placement of Lot Corners in the amount of \$14,062.50 and authorize the Chairman to execute the Subdivider's Agreement for Performance - Placement of Lot Corners.

BACKGROUND:

On April 3, 2025, Permission to Construct Prior to Platting was issued for River Oaks Townhomes, after construction plan review was completed on February 10, 2025. The developer has submitted the required Bonds which the County Attorney's Office has reviewed and approved. The developers are River Oaks Townhomes, LLC and the engineer LevelUp Consulting, LLC.

SUBDIVIDER'S AGREEMENT FOR CONSTRUCTION AND WARRANTY OF REQUIRED ON-SITE AND OFF-SITE IMPROVEMENTS

WARRANTY OF REQUIRED ON-SITE AND OFF-SITE IMPROVEMENTS
This Agreement made and entered into thisday of, 20, by and between River Oaks Townhomes, LLC, hereinafter referred to as the "Subdivider" and
Hillsborough County, a political subdivision of the State of Florida, hereinafter referred to as the "County."
<u>Witnesseth</u>
WHEREAS, the Board of County Commissioners of Hillsborough County has established a Land Development Code, hereinafter referred to as "LDC", pursuant to the authority contained in Chapters 125, 163 and 177, Florida Statutes; and
WHEREAS, the LDC affects the subdivision of land within the unincorporated areas of Hillsborough County; and
WHEREAS, pursuant to the LDC, the Subdivider has submitted to the Board of County Commissioners of Hillsborough County, Florida, for approval and recordation, a plat of a subdivision known as
WHEREAS, a final plat of a subdivision within the unincorporated areas of Hillsborough County shall not be approved and recorded until the Subdivider has guaranteed to the satisfaction of the County that the improvements within the platted area and the off-site improvements required as a condition of the approval of the Subdivision will be installed; and
WHEREAS, the off-site and on-site improvements required by the LDC in connection with the Subdivision are to be installed after recordation of said plat under guarantees posted with the County; and
WHEREAS, the Subdivider has or will file with the Hillsborough County Development Review Division of the Development Services Department drawings, plans, specifications and other information relating to the construction of roads, streets, grading, sidewalks, stormwater drainage systems, water, wastewater and reclaimed water systems and easements and rights-of-way as shown on such plat and as required for approval of the subdivision, in accordance with the specifications found in the aforementioned LDC and required by the County; and
WHEREAS , the Subdivider agrees to build and construct the aforementioned off-site and on-site improvements as required in connection with the Subdivision; and
WHEREAS , pursuant to the LDC, the Subdivider will request the County to accept, upon completion, the following on-site and off-site improvements for maintenance as listed below and identified as applicable to this project:
Offiste: Paving, Drainage, Potable Water
Onsite: Road Construction, Water Distribution, Sanitary Sewer, Storm Drainage
(hereafter, the "County Improvements"); and
WHEREAS, the County requires the Subdivider to warranty the aforementioned County Improvements against any defects in workmanship and materials and agrees to correct any such defects which arise during the warranty period; and
WHEREAS, the County requires the Subdivider to submit to the County an instrument guaranteeing the performance

1. The terms, conditions and regulations contained in the LDC, are hereby incorporated by reference and made a part of this Agreement.

NOW, THEREFORE, in consideration of the intent and desire of the Subdivider as set forth herein, to gain

approval of the County to record said plat, and to gain acceptance for maintenance by the County of the aforementioned

of said warranty and obligation to repair.

County Improvements, the Subdivider and County agree as follows:

2. The Subdivider agrees to well and truly build, construct and install the on-site and off-site improvements required within and in connection with the Subdivision, within Seven (7) months

1 of 5 03/2025

from and after the date that the Board of County Commissioners approves the final plat and accepts the performance bond rendered pursuant to paragraph 4 below, in exact accordance with the drawings, plans, specifications and other data and information filed with the Hillsborough County Development Review Division of Development Services Department by the Subdivider.

- 3. The Subdivider agrees to warranty the County Improvements constructed in connection with the Subdivision against failure, deterioration or damage resulting from defects in workmanship and materials, for a period of two (2) years following the date of acceptance of said Improvements for maintenance by the County. The Subdivider further agrees to correct within the above described warranty period any such failure, deterioration, or damage existing in the Improvements so that said County Improvements thereafter comply with the technical specifications contained in the LDC established by the County.
- 4. The Subdivider agrees to, and in accordance with the requirements of the LDC does hereby deliver to the County, an instrument ensuring the performance and a separate instrument providing a warranty of the obligations described in paragraphs 2 and 3 respectively above, specifically identified as:

a.	Letters of Credit, number	, dated _					
	and number	dated	, with				
			b				
	order of						
b.	A Performance Bond, number <u>027</u>	2950dated,					
	10/20/2025	with					
	River Oaks Townhomes, LLC	_as Principal, and					
	Berkley Insurance Company	as Surety, or					
	A Warranty Bond, number 0272951	•					
		 with					
	River Oaks Townhomes, LLC	_ as Principal, and					
	Berkley Insurance Company						
c.	Cashier/Certified Checks, number	, dated					
	anddated						
	deposited by the County into a non- upon receipt. No interest shall be p received by the County pursuant to t	interest bearing escro paid to the Subdivide	ow account				

Copies of said letter of credit, performance and warranty bonds, escrow agreements, or cashier/certified checks is attached hereto and by reference made a part hereof.

- 5. Once construction is completed, the Subdivider shall submit a written certification, signed and sealed by the Engineer-of-Record, stating that the improvements are constructed in accordance with:
 - a. The plans, drawings, and specifications submitted to and approved by the County's Development Review Division of Development Services Department; and
 - b. All applicable County regulations relating to the construction of improvement facilities.

An authorized representative of the County's Development Services Department will review the Engineer's Certification and determine if any discrepancies exists between the constructed improvements and said certifications.

6. Should the Subdivider seek and the County grant, pursuant to the terms contained in the LDC, an extension of time period established for construction of those on-site and off-site improvements described in paragraph 2, the Subdivider shall provide the County with an instrument ensuring the completion of said improvements within the extended period. The instrument shall be in the form of a letter of credit, performance bond, escrow agreement, or cashier/certified check, as required by the LDC.

2 of 5

- 7. In the event the Subdivider shall fail or neglect to fulfill its obligations under this Agreement as set forth in paragraph 2 and as required by the LDC, the Subdivider shall be liable to pay for the cost of construction and installation of the improvements to the final total cost including, but not limited to, engineering, legal and contingent costs, together with any damages, either direct or consequential, which the County may sustain as a result of the failure of the Subdivider to carry out and execute all of the provisions of this Agreement and the provisions of the LDC.
- 8. In the event the Subdivider shall fail or neglect to fulfill its obligations under this Agreement as set forth in paragraph 3 and as required by the LDC, the Subdivider shall be liable to pay for the cost of reconstruction of defective County Improvements to the final total cost, including, but not limited to, engineering, legal and contingent costs, together with any damages, either direct or consequential, which the County may sustain as a result of the Subdivider's failure or neglect to perform.
- 9. The County agrees, pursuant to the terms contained in the LDC, to record the plat of the Subdivision at such time as the plat complies with the provisions of the LDC and has been approved in the manner prescribed therein.
- 10. The County agrees, pursuant to the terms contained in the LDC, to accept the Improvements for maintenance upon proper completion, approval by the County's Development Review Division of the Development Services Department, and the submittal and approval of all documentation required by this Agreement and the LDC.
- 11. The County agrees, pursuant to the terms contained in the LDC, to issue a letter of compliance to allow the release of certificates of occupancy upon receipt of all of the following:
 - a. The Engineer-of-Record's Certification referred to in paragraph 5 above; and
 - b. Acknowledgement by the Development Services Department that all necessary inspections have been completed and are satisfactory, and that no discrepancies exist between the constructed improvements and the Engineer's Certification; and
 - c. Provide that all applicable provisions of the LDC have been met.
- 12. In the event that the improvement facilities are completed prior to the end of the construction period described in paragraph 2, the Subdivider may request that the County accept the County improvements for maintenance at the time of completion. In addition to the submittal, inspections, and approvals otherwise required by this Agreement and the LDC, the Subdivider shall accompany its request for acceptance with a new or amended warranty instrument, in a form prescribed by the LDC, guaranteeing the obligations set forth in paragraph 3 for a period of two (2) years from the date of the final inspection approval. Provided that said warranty instrument is approved as to form and legal sufficiency by the County Attorney's Office, the County's Development Services Department may accept the new or amended warrany instrument on behalf of the County, and release the original warranty instrument received pursuant to this Agreement, where appropriate. All portions of this Agreement pertaining to the warranty shall apply to any new or amended warranty instrument accepted pursuant to this paragraph.
- 13. If any article, section, clause or provision of this Agreement may be deemed or held invalid by any court of competent jurisdiction for any reason or cause, the same shall not affect or invalidate the remaining portions of this Agreement, which shall remain in full force and effect.
- 14. This document contains the entire agreement of these parties. It shall not be modified or altered except in writing signed by the parties.

3 of 5 03/2025

IN WITNESS WHEREOF, the parties hereto have execut	ted this Agreement, effective as of the date set forth above.
ATTEST:	Subdivider:
Witness Signature	Authorized Corporate Officer or Individual (Sign before Notary Public and 2 Witnesses)
Cody Hewitt	Ken Romanczuk
Printed Name of Witness	Name (typed, printed or stamped)
Jake Complaell	President
Witness Signature	Title
Take Campbell Printed Name of Witness	PO Box 368, Brooksville, FC 3460s Address of Signer
	813-326-6609 Phone Number of Signer
NOTARY PUBLIC	
CORPORATE SEAL (When Appropriate)	
ATTEST:	
VICTOR D. CRIST	BOARD OF COUNTY COMMISSIONERS
Clerk of the Circuit Court	HILLSBOROUGH COUNTY, FLORIDA
Ву:	Ву:
Deputy Clerk	Chair
	X

APPROVED BY THE COUNTY ATTORNEY

Approved As To Form And Legal

Sufficiency.

STATE OF FLORIDA COUNTY OF HILLSBOROUGH The foregoing instrument was acknowledged before me by means of physical presence or online notarization, this (month) (type of authority,...e.g. officer, trustee, attorney in fact) (name of party on behalf of whom instrument was executed) Personally Known OR Produced Identification Public - State of Florida) Type of Identification Produced pe, or Stamp Commissioned Name of Notary Public) Notary Public State of Florida Amber Jackson sion HH 317144 **Individual Acknowledgement** STATE OF FLORIDA **COUNTY OF HILLSBOROUGH** The foregoing instrument was acknowledged before me by means of \square physical presence or \square online notarization, this day of (day) (year) (name of person acknowledging) Personally Known OR Produced Identification (Signature of Notary Public - State of Florida) Type of Identification Produced (Print, Type, or Stamp Commissioned Name of Notary Public)

Representative Acknowledgement

(Notary Seal)

(Commission Number)

(Expiration Date)

Bond No.: 0272950

SUBDIVISION PERFORMANCE BOND On-site and Off-site

KI	WOV	ALL MEN	BY THESE PRESENTS,	That	we Rive	er Oaks Tow	vnhomes,	LLC					
called the	e Princ	ipal, and _	Berkley Insurance Con	npany		called the	Surety,	are held	and	firmly	bound	unto	the
BOARD	OF	COUNTY	COMMISSIONERS	OF	HILLSBC	ROUGH	COUNTY	, FLOR	IDA,	in	the	sum	of
Two Mil	lion Fo	our Hundre	d Thirteen Thousand N	ine Hu	ndred*	(\$ <u>2,413,9</u>	29.19_)	Dollars	for tl	he pay	ment	of w	nich
sum, well	and t	truly to be	e made, we bind our	selves,	our heir	s, executor	rs, admir	nistrators	, and	succes	sors, jo	ointly	and
severally,	firmly	by these p	presents.	*7	wenty-Ni	ine and 19/1	100						

WHEREAS, the Board of County Commissioners of Hillsborough County has adopted subdivision regulations in its Land Development Code pursuant to the authority granted to it in Chapters 125, 163 and 177, Florida Statutes, which regulations are by reference hereby incorporated into and made a part of this performance bond; and

WHEREAS, these subdivision regulations affect the subdivision of land within the unincorporated areas of Hillsborough County; and

WHEREAS, these subdivision regulations require the construction of on-site and off-site improvements in connection with the platting of the <u>River Oaks Townhomes</u> subdivision; and

WHEREAS, the Principal has filed with the Development Review Division of the Development Services Department of Hillsborough County, Florida, drawings, plans and specifications and other data and information relating to construction, grading, paving and curbing of streets, alleys and other rights-of-way shown on such plat, sidewalks, bridges, culverts, gutters, water and wastewater and other necessary drainage facilities, in accordance with the specifications found in the aforementioned subdivision regulations and required by the Board of County Commissioners of Hillsborough County, Florida, and the County Engineer; and

WHEREAS, said improvements are to be built and constructed in the aforementioned platted area and associated off-site area; and

WHEREAS, the aforementioned subdivision regulations require the Principal to submit an instrument ensuring completion of construction of the aforementioned improvements within a time period established by said regulations; and

WHEREAS, the Principal, pursuant to the terms of the aforementioned subdivision regulations has entered into a Subdivider's Agreement, hereafter the "Agreement", the terms of which require the Principal to submit an instrument ensuring completion of construction of required improvements; and

WHEREAS, the terms of said Agreement are by reference, hereby, incorporated into and made a part of this Subdivision Performance Bond.

1 of 2 08/2021

NOW, THEREFORE, the conditions of this obligation are such, that:

A.	If the Principal shall well and truly build, construct, and install in the platted
	area known as River Oaks Townhomes subdivision
	all grading, paving, curbing of streets, alleys or other rights-of-way shown on such plat,
	sidewalks, bridges, culverts, gutters, water and wastewater and other necessary drainage
	facilities, to be built and constructed in the platted area and all off-site improvements in
	exact accordance with the drawings, plans, specifications, and other data and information filed
	with the Development Review Division of the Development Services Department of Hillsborough
	County by the Principal, and shall complete all of said building, construction, and installation within
	Seven (7) months from the date that the Board of County Commissioners
	approves the final plat and accepts this performance bond; and
В.	If the Principal shall faithfully perform the Agreement at the times and in the
	manner prescribed in said Agreement;
	LIGATION SHALL BE NULL AND VOID; OTHERWISE, TO REMAIN IN FULL
FORCE AND EFFECT	UNTIL July 9, 2026
SIGNED, SEA	LED AND DATED this 20th day of October , 2025.
ATTEST:	
	River Oaks Townhomes, LLC
Cott.	By A
-	Principal Seal
	Berkley Insurance Company Surety Seal
TTCT	Surety Seal
ATTEST	
	By D. Sarcie
Simone Gerhard, Witn	ness Attorney-In-Fact Seal
	Donna M. Garcia
	APPROVED BY THE COUNTY ATTORNEY

Approved As To Form And Legal Sufficiency. 2 of 2

CALIFORNIA ALL-PURPOSE ACKNOWLEDGMENT

A notary public or other officer completing this certificate verifies only the identity of the individual who signed the document to which this certificate is attached, and not the truthfulness, accuracy, or validity of that document.							
State of California)							
County of Los Angeles							
County of Los Angeles) On before me, B. Alen	nan, Notary Public						
Date Before me,	Here Insert Name and Title of the Officer						
Personally appeared Donna M. Garcia	25						
	Name(s) of Signer(s)						
the within instrument and acknowledged to me that t	ce to be the person(s) whose name(s) is/are subscribed to ne/she/they executed the same in his/her/their authorized he instrumentthe person(s), or the entity upon behalf of						
3	I certify under PENALTY OF PERJURY under the laws of the State of California that the foregoing paragraph is true and correct.						
B. ALEMAN Notary Public - California	Signature of Notary Public						
Place Notary Seal Above	DTIONAL						
Though this section is optional, completing this	PTIONALs information can deter alteration of the document or is form to an unintended document.						
Description of Attached Document							
Title or Type of Document	Document Date						
	er Than Named Above						
Capacity(ies) Claimed by Signer(s) Signer's Name Corporate Officer—Title(s) Partner Individual Sttorney in Fact Trustee Guardian or Conservator Other	Signer's Name						
Signer Is Representing	Signer Is Representing						

POWER OF ATTORNEY BERKLEY INSURANCE COMPANY WILMINGTON, DELAWARE

KNOW ALL MEN BY THESE PRESENTS, that BERKLEY INSURANCE COMPANY (the "Company"), a corporation duly organized and existing under the laws of the State of Delaware, having its principal office in Greenwich, CT, has made, constituted and appointed, and does by these presents make, constitute and appoint: Timothy J. Noonan; Jennifer Ochs; Charles R. Teter, III; Marina B. Tapia; Edward C. Spector; Donna M. Garcia; Erin J. Brown; Ethan S. Spector; Simone Gerhard; Bernadette Aleman; KeAna D. Wapato; Sarah Campbell; Sandra Corona; Rachel A. Mullen; or Jaren A. Marx of Lockton Companies, LLC dba Lockton Insurance Brokers, LLC of Los Angeles, CA its true and lawful Attorney-in-Fact, to sign its name as surety only as delineated below and to execute, seal, acknowledge and deliver any and all bonds and undertakings, with the exception of Financial Guaranty Insurance, providing that no single obligation shall exceed One Hundred Million and 00/100 U.S. Dollars (U.S.\$100,000,000.000), to the same extent as if such bonds had been duly executed and acknowledged by the regularly elected officers of the Company at its principal office in their own proper persons.

This Power of Attorney shall be construed and enforced in accordance with, and governed by, the laws of the State of Delaware, without giving effect to the principles of conflicts of laws thereof. This Power of Attorney is granted pursuant to the following resolutions which were duly and validly adopted at a meeting of the Board of Directors of the Company held on January 25, 2010:

RESOLVED, that, with respect to the Surety business written by Berkley Surety, the Chairman of the Board, Chief Executive Officer, President or any Vice President of the Company, in conjunction with the Secretary or any Assistant Secretary are hereby authorized to execute powers of attorney authorizing and qualifying the attorney-in-fact named therein to execute bonds, undertakings, recognizances, or other suretyship obligations on behalf of the Company, and to affix the corporate seal of the Company to powers of attorney executed pursuant hereto; and said officers may remove any such attorney-in-fact and revoke any power of attorney previously granted; and further

RESOLVED, that such power of attorney limits the acts of those named therein to the bonds, undertakings, recognizances, or other suretyship obligations specifically named therein, and they have no authority to bind the Company except in the manner and to the extent therein stated; and further

RESOLVED, that such power of attorney revokes all previous powers issued on behalf of the attorney-in-fact named; and further

RESOLVED, that the signature of any authorized officer and the seal of the Company may be affixed by facsimile to any power of attorney or certification thereof authorizing the execution and delivery of any bond, undertaking, recognizance, or other suretyship obligation of the Company; and such signature and seal when so used shall have the same force and effect as though manually affixed. The Company may continue to use for the purposes herein stated the facsimile signature of any person or persons who shall have been such officer or officers of the Company, notwithstanding the fact that they may have ceased to be such at the time when such instruments shall be issued.

IN WITNESS WHEREOF, the Company has caused these presents to be signed and attested by its appropriate officers and its corporate seal hereunto affixed this 2^{nd} day of May, 2024.

	Attest:		Berkley Insurance Comp	pany					
(Seal)	By Philip S. Welt		By Jeffrey M. Hafter	flu					
	Executive Vice Presi	ident & Secretary	Senior Vice Preside	nt					
5	STATE OF CONNECTICUT)								
,	COLDITY OF EA PRIEFE) ss:							
	COUNTY OF FAIRFIELD))							
Jeffrey M	I. Hafter who are sworn to me	to be the Executive Vice		, 2024 , by Philip S. Welt and r, and the Senior Vice President,					
respective	ly, of Berkley Insurance Compan	ı y .	11 0						
	MARIA C. RUNDBAKEN		Maria (Kindbalen					
	NOTARY PUBLIC CONNECTICUT		Notary Public, State of Connecticut						
MYCON	IMISSION EXPIRES 04-30-2029	CERTIFICA	TE						
				CERTIFY that the foregoing is a					
and that t	he authority of the Attomey-in-I	Fact set forth therein, who		has not been revoked or rescinded dertaking to which this Power of					
	is attached, is in full force and effe Given under my hand and seal of t		lav of October	2025					
	riven under my nand and sear of t	ne Company, this d	ay of Colober	, 2020					
(Seal)			Vals						
			Vincent P. Forte						

Winthrop Place

Performance Bond Calculation
Construction costs for the streets, drainage, potable water and sanitary sewer system

SUMMARY

Road Construction	\$619,840.40
Water Disk Hos	0.455.050.40
Water Distribution	\$475,850.10
Sanitary Sewer	\$509,362.60
Storm Drainage	\$326,090.25
Offsite	\$89,831.50
Total	\$1,931,143.35

Performance Bond Amount (125% of total)

Florida Ligen

ROAD CONSTRUCTION

Item	Quantity	Unit		Unit Price		Total
1.5" SP-12.5 Asphalt (2 Lifts)	6,220	SY	\$	20.15	\$	125,333.00
6" Crushed Concrete Base	6,220	SY	\$	23,25	\$	144,615.00
12" Stabilized Subgrade (LBR 40)	7,464	SY	\$	6.35	\$	47,396.40
Valley Gutter	160	LF	\$	38.15	\$	6,104.00
Ribbon Curb	3,295	LF	S	22.05	S	72,654.75
Type "D" Curb	195	LF	\$	28.95	\$	5,645.25
Type "F" Curb	2,145	LF	\$	31.25	\$	67,031.25
4" Concrete Sidewalk	10,788	SF	S	7.25	\$	78,213.00
6" Concrete Sidewalk	2,155	SF	\$	9.55	S	20,580.25
Handicapped Ramps	26	EA	\$	977.50	\$	25,415.00
Concrete Driveway	550	SF	\$	8.05	\$	4,427.50
Signage & Striping	1	LS	S	22,425.00	\$	22,425.00
			TOT	TAL	\$	619,840.40

WATER DISTRIBUTION

Item	Quantity	Unit		Unit Price		Total
Connection to Existing	1	EA	S	4,321.80	\$	4,321.80
4" PVC Water Main (Dr 18)	140	LF	\$	33.35	S	4,669.00
6" PVC Water Main (Dr 18)	1,340	LF	\$	33.85	\$	45,359.00
8" PVC Water Main (Dr 18)	676	LF	\$	34.35	S	23,220.60
8" DIP Water Main	520	LF	S	52.80	\$	27,456.00
16" DIP Water Main	60	LF	\$	106.90	\$	6,414.00
4" Gate Valve & Box	1	EA	\$	1,721.40	S	1,721.40
6" Gate Valve & Box	8	EA	S	2,418.30	S	19,346.40
8" Gate Valve & Box	6	EA	S	2,944.45	\$	17,666.70
16" Gate Valve & Box	2	EA	S	12,002.10	S	24,004.20
2" Blow Off Assembly	4	EA	\$	1,657.40	S	6,629.60
Temporary Jumper	1	EA	S	2,834.90	S	2,834.90
Fire Hydrant Assembly	1	EA	S	6,589.15	S	6,589.15
Lift station Water Service	1	EA	S	1,901.30	S	1,901.30
Double Water Meter Assembly	90	EA	S	2,290.15	S	206,113.50
Master Water Meter Assembly	1	EA	\$	48,668.00	S	48,668.00
Fittings	1	LS	S	17,853.75	S	17,853.75
Testing	2,736	LF	\$	4.05	\$	11,080.80
				TOTAL	\$	475,850.10

SANITARY SEWER

Item	Quantity	Unit		Unit Price		Total
8" SDR26 PVC Sewer (0-6' Cut)	612	LF	\$	51.75	\$	31,671.00
8" SDR26 PVC Sewer (6'-8' Cut)	618	LF	\$	52.75	\$	32,599.50
8" SDR26 PVC Sewer (8'-10' Cut)	212	LF	\$	53.95	\$	11,437.40
8" SDR26 PVC Sewer (10'-12' Cut)	192	LF	\$	55.35	S	10,627.20
Sanitary Manhole (0'-6' Cut)	5	EA	\$	4,851.90	S	24,259.50
Sanitary Manhole (6'-8' Cut)	3	EA	\$	5,401.75	\$	16,205.25
Sanitary Manhole (8'-10' Cut)	1	EA	\$	6,106.05	\$	6,106.05
Sanitary Manhole (10'-12' Cut)	2	EA	\$	6,416.30	\$	12,832.60
Single Service	9	EA	S	880.00	S	7,920.00
Double Service	72	EA	S	1,586.05	S	114,195.60
Sanitary Testing	1,634	LF	\$	5.55	S	9,068.70
Private Pump Station (6' Dia)	1	LS	S	195,215.00	S	195,215.00
2" PVC Forcemain	40	LF	\$	10.10	\$	404.00
4" PVC Forcemain	60	LF	S	19.80	S	1,188.00
Jack & Bore	40	LF	\$	441.95	S	17,678.00
2" Gate Valve and Box	1	EA	S	1,233.95	\$	1,233.95
4" Gate Valve and Box	3	EA	\$	1,823.50	S	5,470.50
8"x4" Wet Tap	1	EA	S	3,966.90	S	3,966.90
Fittings	1	LS	S	5,763.45	S	5,763.45
Testing	1	LS	\$	1,520.00	\$	1,520.00
				TOTAL	\$	509,362.60

STORM DRAINAGE

Item	Quantity	Unit		Unit Price		Total
15" ADS HP	100	LF	\$	39.00	\$	3,900.00
18" ADS HP	1,220	LF	\$	44.80	S	54,656.00
24" ADS HP	742	LF	S	66.00	\$	48,972.00
30" ADS HP	470	LF	\$	98.90	\$	46,483.00
19"x30" ERCP	144	LF	\$	234.25	\$	33,732.00
Type 1 Inlet	4	EA	\$	9,322.95	\$	37,291.80
Type C Inlet	8	EA	S	2,775.15	S	22,201.20
Type C Inlet J Bottom	2	EA	S	4,965.45	\$	9,930.90
Smartbox	1	EA	S	10,446.05	\$	10,446.05
P Manhole	4	EA	S	3,554.95	\$	14,219.80
Relocate Inlet	2	EA	\$	6,791.10	S	13,582.20
18" MES	1	EA	S	1,849.85	\$	1,849.85
24" MES	1	EA	\$	2,215.20	S	2,215.20
30" MES	1	EA	\$	4,274.75	\$	4,274.75
19"x30" MES	1	EA	\$	4,236.40	\$	4,236.40
End Wall	2	EA	S	2,426.45	\$	4,852.90
Testing	2,676	LF	\$	4.95	S	13,246.20
						•
				TOTAL	\$	326,090.25

OFFSITE

Item	Quantity	Unit	Unit Price		Total
2" SP-12.5 Asphalt	240	SY	\$ 36.80	\$	8,832.00
Mill & Resurface	2,570	SY	\$ 14.15	\$	36,365.50
Full Depth Base	300	SY	\$ 56.10	S	16,830.00
Compacted subgrade	360	SY	\$ 7.65	S	2,754.00
ROW Restoration	1,500	SY	\$ 4.05	S	6,075.00
Signage & Striping	1	LS	\$ 18,975.00	\$	18,975.00
			TOTAL	\$	89,831.50

Bond No.: 0272951

SUBDIVISION WARRANTY BOND On-Site and Off-Site

KNOW ALL MEN BY THESE PRESENTS, that we River Oaks Townhomes, LLC

called the Principal, and Berkley Insurance Company

called the Surety, are held and firmly bound unto the BOARD OF COUNTY COMMISSIONERS OF HILLSBOROUGH COUNTY, FLORIDA, in the sum of One Hundred Thirty-Nine Thousand Twenty-Six and 70/100 (\$139,026.70) Dollars for the payment of which we bind ourselves, our heirs, executors, administrators, and successors, jointly and severally, firmly by these presents.

WHEREAS, the Board of County Commissioners of Hillsborough County has adopted subdivision regulations in its Land Development Code pursuant to the authority granted to it in Chapters 125, 163 and 177, Florida Statutes, which regulations are by reference hereby incorporated into and made a part of this warranty bond; and

WHEREAS, these subdivision regulations affect the subdivision of land within the unincorporated areas of Hillsborough County; and

WHEREAS, the Principal has made the request that the Board of County Commissioners of Hillsborough County accept the following improvements for maintenance in connection with the <u>River Oaks Townhomes</u> subdivision (hereafter, the "Subdivision"): on-site improvements: <u>N/A</u> and off-site improvements: <u>Streets, Drainage, Portable Water</u> (together, the on-site and off-site improvements are hereafter referred to as the "Improvements"); and

WHEREAS, the aforementioned subdivision regulations require as a condition of acceptance of the Improvements that the Principal provide to the Board of County Commissioners of Hillsborough County a bond warranting the Improvements for a definite period of time in an amount prescribed by the aforementioned subdivision regulations; and

WHEREAS, the Principal, pursuant to the terms of the aforementioned subdivision regulations has entered into a "Subdivider's Agreement", the terms of which agreement require the Principal to submit an instrument warranting the above-described Improvements; and

WHEREAS, the terms of said Subdivider's Agreement are by reference, hereby, incorporated into and made a part of this Warranty Bond.

NOW THEREFORE, THE CONDITIONS OF THIS OBLIGATION ARE SUCH THAT:

- A. If the Principal shall warrant for a period of two years following the date of acceptance of the Improvements for maintenance by the Board of County Commissioners of Hillsborough County, against failure, deterioration, or damage resulting from defects in workmanship and/or materials, and;
- B. If the Principal shall correct within the above described warranty period any such failure, deterioration, or damage existing in the aforementioned Improvements so that said Improvements thereafter comply with the technical specifications contained in the subdivision regulations established by the Board of County Commissioners of Hillsborough County, and;

1 of 2 04/2024

bdivider's Agreement at the times a	and in the manner prescribed in
LL AND VOID; OTHERWISE, TO I	REMAIN IN FULL FORCE AND
day of October	, 20 <u>25</u> .
River Oaks Townhorn By Principal	Seal
Berkley Insurance Con	npany
Surety	Seal
By Attorney-In-Fact Donna M. Garcia	New Seal
	Attorney-In-Fact

APPROVED BY THE COUNTY ATTORNEY

Approved As To Form And Legal Sufficiency.

CALIFORNIA ALL-PURPOSE ACKNOWLEDGMENT

A notary public or other officer completing this certificate of document to which this certificate is attached, and not the	TOTAL SOME CONTROL TO SERVICE AND
State of California	
County of Los Angeles	
County of Los Angeles) On before me, B. Alem	an. Notary Public
Date	Here Insert Name and Title of the Officer
Personally appeared Donna M. Garcia	
	Name(s) of Signer(s)
	e to be the person(s) whose name(s) is/are subscribed to e/she/they executed the same in his/her/their authorized einstrumentthe person(s), or the entity upon behalf of
St	certify under PENALTY OF PERJURY under the laws of the cate of California that the foregoing paragraph is true an correct.
B. ALEMAN Notary Public - California Los Angeles Cour ty Commission # 2460658	/ITNESS my hand and official seal.
	Signature of Notary Public
	s
Place Notary Seal Above	TIONAL
Though this section is optional, completing this i	nformation can deter alteration of the document or form to an unintended document.
Description of Attached Document	
Title or Type of Document	Document Date
Number of Pages Signer(s) Other	Than Named Above
Capacity(ies) Claimed by Signer(s)	Signer's Name
☐ Partner ☐ Limited ☐ General ☐ Individual ☐ Attorney in Fact ☐ Trustee ☐ Guardian or Conservator ☐ Other	☐ Partner ☐ Limited ☐ General ☐ Individual ☐ Attorney in Fact ☐ Trustee ☐ Guardian or Conservator ☐ Other
Signer Is Representing	Signer Is Representing

POWER OF ATTORNEY BERKLEY INSURANCE COMPANY WILMINGTON, DELAWARE

KNOW ALL MEN BY THESE PRESENTS, that BERKLEY INSURANCE COMPANY (the "Company"), a corporation duly organized and existing under the laws of the State of Delaware, having its principal office in Greenwich, CT, has made, constituted and appointed, and does by these presents make, constitute and appoint: Timothy J. Noonan; Jennifer Ochs; Charles R. Teter, III; Marina B. Tapia; Edward C. Spector; Donna M. Garcia; Erin J. Brown; Ethan S. Spector; Simone Gerhard; Bernadette Aleman; KeAna D. Wapato; Sarah Campbell; Sandra Corona; Rachel A. Mullen; or Jaren A. Marx of Lockton Companies, LLC dba Lockton Insurance Brokers, LLC of Los Angeles, CA its true and lawful Attorney-in-Fact, to sign its name as surety only as delineated below and to execute, seal, acknowledge and deliver any and all bonds and undertakings, with the exception of Financial Guaranty Insurance, providing that no single obligation shall exceed One Hundred Million and 00/100 U.S. Dollars (U.S.\$100,000,000.000), to the same extent as if such bonds had been duly executed and acknowledged by the regularly elected officers of the Company at its principal office in their own proper persons.

This Power of Attorney shall be construed and enforced in accordance with, and governed by, the laws of the State of Delaware, without giving effect to the principles of conflicts of laws thereof. This Power of Attorney is granted pursuant to the following resolutions which were duly and validly adopted at a meeting of the Board of Directors of the Company held on January 25, 2010:

RESOLVED, that, with respect to the Surety business written by Berkley Surety, the Chairman of the Board, Chief Executive Officer, President or any Vice President of the Company, in conjunction with the Secretary or any Assistant Secretary are hereby authorized to execute powers of attorney authorizing and qualifying the attorney-in-fact named therein to execute bonds, undertakings, recognizances, or other suretyship obligations on behalf of the Company, and to affix the corporate seal of the Company to powers of attorney executed pursuant hereto; and said officers may remove any such attorney-in-fact and revoke any power of attorney previously granted; and further

RESOLVED, that such power of attorney limits the acts of those named therein to the bonds, undertakings, recognizances, or other suretyship obligations specifically named therein, and they have no authority to bind the Company except in the manner and to the extent therein stated; and further

RESOLVED, that such power of attorney revokes all previous powers issued on behalf of the attorney-in-fact named; and further

RESOLVED, that the signature of any authorized officer and the seal of the Company may be affixed by facsimile to any power of attorney or certification thereof authorizing the execution and delivery of any bond, undertaking, recognizance, or other suretyship obligation of the Company; and such signature and seal when so used shall have the same force and effect as though manually affixed. The Company may continue to use for the purposes herein stated the facsimile signature of any person or persons who shall have been such officer or officers of the Company, notwithstanding the fact that they may have ceased to be such at the time when such instruments shall be issued.

IN WITNESS WHEREOF, the Company has caused these presents to be signed and attested by its appropriate officers and its corporate seal hereunto affixed this 2^{nd} day of \underline{May} , $\underline{2024}$.

Berkley Insurance Company

Attest:

(Seal)	Philip S. Welt	1	By Jeffrey M		~	
	Executive Vice President &	Secretary	Senior Vic	ce President		
	STATE OF CONNECTICUT)) ss: COUNTY OF FAIRFIELD)					
Jeffrey N	before me, a Notary Public in the State of M. Hafter who are sworn to me to be ely, of Berkley Insurance Company.					
	MARIA C. RUNDBAKEN		_/Ma	010 C. Ke	Malen	
	NOTARY PUBLIC		Notary P	ublic, State of Co	onnecticut	
	CONNECTICUT MMISSION EXPIRES 04-30-2029	CERTIFICAT	E	1 May 1		
	lersigned, Assistant Secretary of BERKL					
and that	ect and complete copy of the original Po- the authority of the Attorney-in-Fact set	forth therein, who e				
	is attached, is in full force and effect as o		Oct	ober	2025	
•	Given under my hand and seal of the Con	ipany, thisda	y of	July 7		
(Seal)			5	Vals 76		_
			Vincent P	. Forte		

Winthrop Place

Warranty Bond Calculation
Construction costs for the offsite streets, drainage, and potable water system

SUMMARY

Paving	\$47,698.10
Water	\$28,320.85
Drainage	\$63,007.75
Total	\$139,026.70

Warranty Bond Amount (10% of total)

Eric Dunning P.F.
Florida License # 5678 STAI
FLORIDA
FLORIDA
FLORIDA

PAVING

Item	Quantity	Unit	Unit Price		Total	
2" SP-12.5 Asphalt	240	GV.	0	20.20	0	(500 00
Mill & Reurface	240 2,570	SY SY	\$ \$	28.30 9.75	\$	6,792.00
Full Depth Base	300	SY	\$	19.50	\$ \$	25,057.50 5,850.00
Compacted Subgrade	360	SY	\$	27.70	\$	9,972.00
Signage & Striping	1	LS	\$	26.60	\$	26.60
			TOTAL		\$	47,698.10

WATER DISTRIBUTION SYSTEM

Item	Quantity	Unit		Unit Price		Total
8" DIP Water Main	438	LF	\$	52.80	\$	23,126.40
8" Gate Valve	1	EA	\$	2,944.45	\$	2,944.45
8" Blowoff	1	EA	\$	2,250.00	\$	2,250.00
				TOTAL	\$	28,320.85

DRAINAGE

Item	Quantity	Unit	τ	Jnit Price	 Amount
15" HP Storm	35	LF	\$	39.00	\$ 1,365.00
24" HP Storm	281	LF	\$	66.00	\$ 18,546.00
Type 1 Inlet	4	EA	\$	9,322.95	\$ 37,291.80
Storm Manhole	1	EA	\$	3,554.95	\$ 3,554.95
24" FES	1	EA	\$	2,250.00	\$ 2,250.00

Total = \$63,007.75

River Oaks Townhomes

Warranty Bond Calculation
Construction costs for the offsite streets, drainage, and potable water system

SUMMARY

Total	\$139,026.70
Drainage	\$63,007.75
Water	\$28,320.85
Paving	\$47,698.10

Warranty Bond Amount (10% of total)

PAVING

Item	Quantity	Unit	Unit P	rice	 Total
2" SP-12.5 Asphalt	240	SY	\$	28.30	\$ 6,792.00
Mill & Reurface	2,570	SY	\$	9.75	\$ 25,057.50
Full Depth Base	300	SY	\$	19.50	\$ 5,850.00
Compacted Subgrade	360	SY	\$	27.70	\$ 9,972.00
Signage & Striping	1	LS	\$	26.60	\$ 26.60
			TOTAL		\$ 47,698.10

WATER DISTRIBUTION SYSTEM

Item	Quantity	Unit	Unit Price		Total
8" DIP Water Main	438	LF	\$ 52.80	\$	23,126.40
8" Gate Valve	1	EA	\$ 2,944.45	\$	2,944.45
8" Blowoff	1	EA	\$ 2,250.00	\$	2,250.00
			TOTAL	\$	28,320.85

DRAINAGE

Item	Quantity	Unit	Ţ	Jnit Price	Amount
15" HP Storm	35	LF	\$	39.00	\$ 1,365.00
24" HP Storm	281	LF	\$	66.00	\$ 18,546.00
Type 1 Inlet	4	EA	\$	9,322.95	\$ 37,291.80
Storm Manhole	1	EA	\$	3,554.95	\$ 3,554.95
24" FES	1	EA	\$	2,250.00	\$ 2,250.00

Total = \$63,007.75

SUBDIVIDER'S AGREEMENT FOR PERFORMANCE - PLACEMENT OF LOT CORNERS

		e and entered into this	day of	, 20	$_{\rm _{\rm _{\rm _{\rm _{\rm _{\rm _{\rm _{\rm _{\rm _{\rm $	between
	wnhomes,LLC			referred to as		ider" and
Hillsborough	County, a politic	al subdivision of the State		after referred to as	the "County."	
		-	<u> Witnesseth</u>			
		ard of County Commis				
		ter referred to as "LDC" p	ursuant to the aut	hority contained in	Chapters 125, 16	53 and 177,
Florida Statut	es; and					
WHE	REAS, the LDC af	fects the subdivision of lar	nd within the unin	corporated areas of	Hillsborough Cou	unty; and
		to the LDC, the Subdiv				
of Hillsboro River Oaks Tov		Florida, for approval		n, a plat of a ereafter referred to		
WHER	REAS, a fina	plat of a subdivi	sion within th	e unincorporated	d area of H	illsborough
County shall	25	oved and recorded uni				sfaction of
		ill be installed; and		6		
WHER	PEAS the let cor	ners required by Florida S	tatutos in the Sub	udivision are to be i	netalled ofter rea	ardation of
		sted with the County; and		division are to be i	iistalieu alter rec	ordation or
		• •				
WHER	REAS , the Subdiv	ider agrees to install the a	forementioned lot	corners in the plat	ted area.	
NOW,	THEREFORE, in	consideration of the in	tent and desire o	of the Subdivider a	is set forth here	in, to gain
approval of th	ne County to rec	ord said plat, and to gain a	cceptance for mai	ntenance by the Co	unty of the afore	mentioned
Improvement	s, the Subdivide	r and County agree as follo	ows:			
1.	The terms, cor	nditions and regulations o	ontained in the L	DC, are hereby inc	orporated by refe	erence and
		this Agreement.		,		
2.	The Subdivide	er agrees to well and	truly build cons	truct and install	in the Subdivisi	on within
۷.	Seven			after the date t		
	Commissioners	approves the final plat ar				
		corners as required by Flo				h-1-0b.
2		agrees to, and in accord		quiromonts of the	IDC door boroby	, dalivar ta
3.		instrument ensuring the				
	specifically idea		Delibiliance of th	e obligations descr	ibeu iii paragrapi	ii z, above,
	,			7 ~ 1		
	a.	Letter of Credit, number				
		with				
		order of				
	b.	A Performance Bond, nu	mber <u>0272950</u>	dated,		
				n		
		River Oaks Townhomes, LLC				
		Berkley Insurance Company	as S	urety, or		
	c.	Escrow ageement, dated	l	, be	tween,	
	c.	Cashier/Certified Check,	number	dated		
	· ·	which shall be deposited				
			,			

1 of 4 03/2025

escrow account upon receipt. No interest shall be paid to the Subdivider on funds received by the County pursuant to this Agreement.

Copies of said letter of credit, performance and warranty bonds, escrow agreements, or cashier/certified checks is attached hereto and by reference made a part hereof.

- 4. Should the Subdivider seek and the County grant, pursuant to the terms contained in the LDC, an extension of the time period established for installation of lot corners described in paragraph 2, the Subdivider shall provide the County with an instrument ensuring the completion within the extended period. The instrument shall be in the form of a letter of credit, performance bond, escrow agreement, or cashier/certified check as required by the LDC.
- 5. In the event the Subdivider shall fail or neglect to fulfill its obligations under this agreement and as required by the LDC, the Subdivider shall be liable to pay for the cost of installation of the lot corners to the final total cost including, but not limited to, surveying, engineering, legal and contingent costs, together with any damages, either direct or consequential, which the County may sustain as a result of the failure of the Subdivider to carry out and execute all of the provisions of this Agreement and the provisions of the LDC.
- 6. The County agrees, pursuant to the terms contained in the LDC, to record the plat of the Subdivision at such time as the plat complies with the provisions of the LDC and has been approved in a manner as prescribed therein.
- 7. If any article, section, clause or provision of this agreement may be deemed or held invalid by any court of competent jurisdiction for any reason or cause, the same shall not affect or invalidate the remainder of this Agreement, nor any other provisions hereof, or such judgment or decree shall be binding in its operation to the particular portion hereof described in such judgment and decree and held invalid.
- 8. This document contains the entire agreement of the parties. It shall not be modified or altered except in writing signed by the parties.

2 of 4 03/2025

	ed this Agreement, effective as of the date set forth above.
ATTEST:	Subdivider:
Cirly H	By A
Witness Śignature	Authorized Corporate Officer or Individual
	(Sign before Notary Public and 2 Witnesses)
Cody Hewitt	Va Para Tel
Printed Name of Witness	Name (typed, printed or stamped)
Timed value of withess	Name (typed, printed or stamped)
For completel	President
Witness Signature	Title
Jake Campbell	PO Box 368 Brooksville, Fl 34605
Printed Name of Witness	Address of Signer
	_
	813-326-6609
	Phone Number of Signer
NOTABY BUBLIC	
NOTARY PUBLIC	
CORPORATE SEAL	
(When Appropriate)	
ATTEST:	
VICTOR D. CRIST	BOARD OF COUNTY COMMISSIONERS
Clerk of the Circuit Court	HILLSBOROUGH COUNTY, FLORIDA
	Ву:
By:	

Approved As To Form And Legal Sufficiency.

Representative Acknowledgement

STATE OF FLORIDA

COUNTY OF HILLSBOROUGH

The foregoing instrument was acknowledged before me	by means of	physical presenc	e or 🔲 online nota	rization, this
21 day of October , 20	25	by her B	mancryb	as
(day) President (month) for	(year)	(name of	person acknowledging)	
(type of authority,e.g. officer, trustee, attorney in fact)	(name of part	y on behalf of whom inst	rument was executed)	
Personally Known OR Produced Identification		(Signature of No	g 19 tary Public - State of I	Florida)
Type of Identification Produced		Amber	Jackson	51111
Notary Public State of Florida Amber Jackson My Commission HH 317144 (Notary Seal) Expires 9/27/2026	15 am	HH 3171	o Commissioned Nam	(Expiration Date)
Individual Acknowledgement STATE OF FLORIDA				
COUNTY OF HILLSBOROUGH				
The foregoing instrument was acknowledged before me b	y means of [physical presence	e or 🔲 online notai	rization, this
day of	,,	y		•
(day) (month)	(year)	(name of p	erson acknowledging)	
Personally Known OR Produced Identification				
		(Signature of No	tary Public - State of F	lorida)
Type of Identification Produced				
		(Print, Type, or Stamp	Commissioned Name	e of Notary Public)
(Notary Seal)	(Com	mission Number)		(Expiration Date)

Winthrop Place

Performance Bond Calculation

SUMMARY

Lot Corners	\$11,250.00
Total	511 250 00
IULAI	\$11,250.00

Performance Bond Amount (125% of total)

No. 6767829 No. 6767829 Eric Duntang PE. STATE OF Florida Liceose # 67678LORIDA ROLLING

LOT CORNERS

Item	Quantity	Unit	Unit Price		Total	
Lot Corner	1	LS	\$	11,250.00	\$	11,250.00
			TOTA	L	\$	11,250.00

Bond No.: 0274067

SUBDIVISION PERFORMANCE BOND FOR LOT CORNER PLACEMENT

1 1 - 1

KNOW ALL MEN BY THESE PRESENTS, That we River Oaks Townhomes, LLC
called the Principal, and Berkley Insurance Company
called the Surety, are held and firmly bound unto the
BOARD OF COUNTY COMMISSIONERS OF HILLSBOROUGH COUNTY, FLORIDA, in the sum of
Fourteen Thousand Sixty-Two and 50/100 Dollars (\$\frac{14,062.50}{}\) Dollars for the payment of which sum,
well and truly to be made, we bind ourselves, our heirs, executors, administrators, and successors, jointly and
severally, firmly by these presents.
WHEREAS, the Board of County Commissioners of Hillsborough County has adopted subdivision
regulations in its Land Development Code pursuant to the authority granted to it in Chapters 125, 163 and
177, Florida Statutes, which regulations are by reference hereby incorporated into and made a part of this
performance bond; and
WHEREAS, these subdivision regulations affect the subdivision of land within the unincorporated areas
of Hillsborough County; and
WHEREAS, pursuant to these subdivision regulations a final plat of the subdivision within the
unincorporated areas of Hillsborough County shall not be approved and recorded until the Subdivider has
guaranteed to the satisfaction of the County that lot corners will be installed; and
WHEREAS, the lot corners required by Florida Statutes in the subdivision known as River Oaks Townhomes, LLC are to be installed after recordation of said plat under guarantees posted with
the County; and
WHEREAS, said lot corners are to be installed in the aforementioned platted area; and
WHEREAS, the aforementioned subdivision regulations require the Principal to submit an instrument
ensuring completion of installation of the aforementioned lot corners within a time period established by said
regulations; and
WHEREAS, the Principal, pursuant to the terms of the aforementioned subdivision regulations has entered
into a Subdivider's Agreement for Performance – Placement of Lot Corners, the terms of which Agreement

WHEREAS, the terms of said Subdivider's Agreement are by reference, hereby, incorporated into and made a part of this Subdivision Performance Bond.

require the Principal to submit an instrument ensuring completion of installation of the required lot corners; and

NOW THEREFORE, the conditions of this obligation are such. that:

A.	If the Principal shall well and truly build, construct, and install in the platted area known as River Oaks Townhomes, LLC subdivision
	all lot corners as required by the State in the platted area in exact accordance with the
	drawings, plans, specifications, and other data and information filed with the Development
	Review Division of Development Services Department of Hillsborough County by the Principal,
	and shall complete all of said building, construction, and installation within $\frac{\text{Twelve}(12)}{\text{Twelve}(12)}$
	months from the date that the Board of County Commissioners approves the final plan and
	accepts this performance bond; and
В.	If the Principal shall faithfully perform the Subdivider's Agreement at the times and in the
	manner prescribed in said Agreement;
THEN TH	IS OBLIGATION SHALL BE NULL AND VOID; OTHERWISE, TO REMAIN IN FULL FORCE AND
	NTIL December 09, 2026
LITECTO	
SIGNED, S	SEALED AND DATED this $\frac{14\text{th}}{}$ day of $\frac{\text{November}}{}$, $20\frac{25}{}$.
ATTEST:	River Oaks Townhomes, LLC
	BY: PRINCIPAL (SEAL)
	Berkley Insurance Company
	SURETY (SEAL)
ATTEST	

Simone Gerhard, Witness

ATTORNEY-IN-FACT

(SEAL)

Donna M. Garcia, Attorney-In-Fact

APPROVED BY THE COUNTY ATTORNEY

Approved As To Form And Legal Sufficiency.

2 of 2

CALIFORNIA ALL-PURPOSE ACKNOWLEDGMENT

A notary public or other officer completing this certificat document to which this certificate is attached, and not t	e verifies only the identity of the individual who signed the he truthfulness, accuracy, or validity of that document.
State of California	
County of Los Angeles	
1011 4 4 0005	man, Notary Public
Onbefore me, B. Ale	Here Insert Name and Title of the Officer
Personally appeared Donna M. Garcia	,
reisonany appeared	Name(s) of Signer(s)
the within instrument and acknowledged to me that	nce to be the person(s) whose name(s) is/ are subscribed to he/she/ they executed the same in his/her/their authorized the instrumentthe person(s), or the entity upon behalf of
B. ALEMAN Notary Public - California Los Angeles Courty Commission # 2460658 My Comm. Expires Aug 24, 2027	I certify under PENALTY OF PERJURY under the laws of the State of California that the foregoing paragraph is true and correct. WITNESS my-hand and official seal. Signature
	Signature of Notary Public
Place Notary Seal Above	DPTIONAL
Though this section is optional, completing th	is information can deter alteration of the document or
	his form to an unintended document.
Description of Attached Document	
Title or Type of Document	Document Date
Number of Pages Signer(s) Oth	er Than Named Above
Capacity(ies) Claimed by Signer(s) Signer's Name	Signor's Namo
Corporate Officer—Title(s)	Signer's Name Corporate Officer—Title(s)
Partner Limited General	Partner Limited General
Individual Attorney in Fact	Individual Attorney in Fact
☐ Trustee ☐ Guardian or Conservator ☐ Other	☐ Trustee ☐ Guardian or Conservator
	Other
Signer Is Representing	Signer Is Representing

POWER OF ATTORNEY BERKLEY INSURANCE COMPANY WILMINGTON, DELAWARE

. .

KNOW ALL MEN BY THESE PRESENTS, that BERKLEY INSURANCE COMPANY (the "Company"), a corporation duly organized and existing under the laws of the State of Delaware, having its principal office in Greenwich, CT, has made, constituted and appointed, and does by these presents make, constitute and appoint: Timothy J. Noonan; Jennifer Ochs; Charles R. Teter, III; Marina B. Tapia; Edward C. Spector; Donna M. Garcia; Erin J. Brown; Ethan S. Spector; Simone Gerhard; Bernadette Aleman; KeAna D. Wapato; Sarah Campbell; Sandra Corona; Rachel A. Mullen; or Jaren A. Marx of Lockton Companies, LLC dba Lockton Insurance Brokers, LLC of Los Angeles, CA its true and lawful Attorney-in-Fact, to sign its name as surety only as delineated below and to execute, seal, acknowledge and deliver any and all bonds and undertakings, with the exception of Financial Guaranty Insurance, providing that no single obligation shall exceed One Hundred Million and 00/100 U.S. Dollars (U.S.\$100,000,000.000), to the same extent as if such bonds had been duly executed and acknowledged by the regularly elected officers of the Company at its principal office in their own proper persons.

This Power of Attorney shall be construed and enforced in accordance with, and governed by, the laws of the State of Delaware, without giving effect to the principles of conflicts of laws thereof. This Power of Attorney is granted pursuant to the following resolutions which were duly and validly adopted at a meeting of the Board of Directors of the Company held on January 25, 2010:

RESOLVED, that, with respect to the Surety business written by Berkley Surety, the Chairman of the Board, Chief Executive Officer, President or any Vice President of the Company, in conjunction with the Secretary or any Assistant Secretary are hereby authorized to execute powers of attorney authorizing and qualifying the attorney-in-fact named therein to execute bonds, undertakings, recognizances, or other suretyship obligations on behalf of the Company, and to affix the corporate scal of the Company to powers of attorney executed pursuant hereto; and said officers may remove any such attorney-in-fact and revoke any power of attorney previously granted; and further

RESOLVED, that such power of attorney limits the acts of those named therein to the bonds, undertakings, recognizances, or other suretyship obligations specifically named therein, and they have no authority to bind the Company except in the manner and to the extent therein stated; and further

RESOLVED, that such power of attorney revokes all previous powers issued on behalf of the attorney-in-fact named; and further

RESOLVED, that the signature of any authorized officer and the seal of the Company may be affixed by facsimile to any power of attorney or certification thereof authorizing the execution and delivery of any bond, undertaking, recognizance, or other suretyship obligation of the Company; and such signature and seal when so used shall have the same force and effect as though manually affixed. The Company may continue to use for the purposes herein stated the facsimile signature of any person or persons who shall have been such officer or officers of the Company, notwithstanding the fact that they may have ceased to be such at the time when such instruments shall be issued.

IN WITNESS WHEREOF, the Company has caused these presents to be signed and attested by its appropriate officers and its corporate seal hereunto affixed this 2^{nd} day of \underline{May} , $\underline{2024}$.

Berkley Insurance Company

		Deline, minutes company	
(Seal)	By Philip S. Welt	By Jeffrey M. Hafter	
	Executive Vice President & Secretary	Senior Vice President	
	STATE OF CONNECTICUT)) ss: COUNTY OF FAIRFIELD)		
Jeffrey	to before me, a Notary Public in the State of Connecticut, t M. Hafter who are sworn to me to be the Executive vively, of Berkley Insurance Company.		
MYC	MARIA C. RUNDBAKEN NOTARY PUBLIC CONNECTICUT OMMISSION EXPIRES 04-30-2029 CERTIFI	Notary Public, State of Connection	elen_
true, co	ndersigned, Assistant Secretary of BERKLEY INSURANCE rrect and complete copy of the original Power of Attorney; t the authority of the Attorney-in-Fact set forth therein, was to strucked, is in full force and effect as of this date.	y; that said Power of Attorney has not been r	revoked or rescinded
Attorne	Given under my hand and seal of the Company, this 14th	h day of November	2025
(Seal)		Vincent P. Forte	